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R o | BT e | B2 | e | e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5.79 7246 FhLlst | 000 ~ 579 1.80 9.62 s 1.00f 500 ~ 6.54 7246 ThLls | 500 ~ 654 1.80 9.62
9 100kN/mM##BZ 5 -l -~ - -|3mEBZ 5 -~ - - —-| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 524 65.30| ZhLlst |0.00 ~ 524| 2.08 11.11 s 1.00f 500 ~ 6.97 65.30f =hLl4t | 500 ~ 6.97| 2.08 11.11
3 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5.60 69.98| =n L4t | 0.00 ~ 560 2.07 11.06 s 1.00f 500 ~ 7.57 69.98 =h L4t | 5.00 ~ 757 2.07 11.06
4 100kN/m##8 %% 1.00]0.00 ~ 1.51 122.93| 3m%*x#B2 5 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.73 ~ 16.36 122.93| 3m%xB25 -~ - - -
ZHnLs 1.00]1.51 ~ 9.29 100.00f Zh st | 0.00 ~ 9.29| 2.27 12.17 s 1.00f 5.00 ~ 10.73 100.00| Zhkl4t+ | 5.00 ~ 16.36] 2.27 12.17
5 100kN/m##8 %% 1.00{0.00 ~ 2.30 135.78| 3m%x#B 25 -~ - - —| 100kN/mM%#2 % % 1.00{ 10.64 ~ 21.02 135.78| 3m%x B2 5% -~ - - -
s 1.00] 2.30 ~ 10.08 100.00f Z=hkist | 0.00 ~ 10.08] 2.62 14.04 s 1.00f 500 ~ 10.64 100.00| Z=hl4t | 5.00 ~ 21.02| 2.62 14.04
6 100kN/mM%#BZ % -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ B -~ - - -
s 1.00/0.00 ~ 6.87 86.98| =nLlst |0.00 ~ 6.87| 2.60 13.91 s 1.00f 500 ~ 10.81 86.98| #n L4t | 5.00 ~ 10.81| 2.60 13.91
7 100kN/mM%#BZ 5 -l -~ - -|3mEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 6.55 82.60| =hLlst |0.00 ~ 0.00] 1.70 9.12 s 1.00f 500 ~ 7.86 82.60| =h L4+ | 500 ~ 7.86] 1.70 9.12
8 100kN/mM%#BZ % -l -~ - -|3mZEBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ 5 -~ - - -
s 1.00/0.00 ~ 5384 73.10| Z#h L4t | 0.00 ~ 0.00] 1.62 8.68 s 1.00f 500 ~ 6.84 73.10f #hLlst | 500 ~ 6.84] 1.62 8.68
9 100kN/m##8 %% 1.00{0.00 ~ 0.95 114.29| 3m%x#B2 5 -~ - - —| 100kN/mM%#B % % 1.00{ 10.56 ~ 13.51 114.29| 3m%x#B 25 -~ - - -
s 1.00/095 ~ 8.74 100.00f Zhkist |0.00 ~ 8.74] 2.15 11.49 s 1.00f 5.00 ~ 10.56 100.00f Z=hkl4t+ | 5.00 ~ 13.51| 2.15 11.49
10 100kN/m##8% % 1.00{0.00 ~ 1.82 127.99|3m%*x#B2 5% -~ - - —| 100kN/mM%#8 % % 1.00{ 11.01 ~ 17.47 127.99| 3m%x#B 25 -~ - - -
s 1.00]1.82 ~ 9.61 100.00f Z=hkl4t |0.00 ~ 9.61] 255 13.65 s 1.00f 500 ~ 11.01 100.00f Z=hl4t | 5.00 ~ 17.47| 2.55 13.65
11 100kN/m##8% % 1.00{0.00 ~ 3.86 162.86|3mx# %%/ 0.00 ~ 1.51| 3.78 20.21| 100kN/m#%#8% % 1.00{ 10.62 ~ 45.67 162.86| 3m*x#8% 5| 25.00 ~ 45.67| 3.78 20.21
s 1.00/3.86 ~ 11.64 100.00| #+#list | 1.51 ~ 11.64] 3.00 16.05 s 1.00f 5.00 ~ 10.62 100.00f Z=hl4t+ | 5.00 ~ 25.00[ 3.00 16.05
12 100kN/m##8% % 1.00{0.00 ~ 3.85 162.62|3m%x# %% 0.00 ~ 1.51| 3.77 20.19| 100kN/m#%#8% % 1.00{ 10.62 ~ 45.01 162.62| 3m%x#% 5| 25.00 ~ 45.01| 3.77 20.19
ZHnLs 1.00]3.85 ~ 11.63 100.00| #+# kst | 1.51 ~ 11.63] 3.00 16.05 s 1.00f 5.00 ~ 10.62 100.00f Z=h k4t | 5.00 ~ 25.00[ 3.00 16.05
13 100kN/m##8% % 1.00{0.00 ~ 3.67 159.46|3m%#% %] 0.00 ~ 1.32| 3.64 19.48| 100kN/m#%#B 2% 1.00{ 10.53 ~ 47.07 159.46| 3m%*x#% %] 25.00 ~ 47.07| 3.64 19.48
s 1.00] 3.67 ~ 1145 100.00| #Hlist |1.32 ~ 11.45| 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hkl4t+ | 5.00 ~ 25.00[ 3.00 16.05
14 100kN/m##8% % 1.00{0.00 ~ 3.63 158.80| 3m*x# %% 0.00 ~ 1.30 3.62 19.40| 100kN/m#%#8 2% 1.00{ 10.54 ~ 46.84 158.80| 3m%*x#8% 5| 25.00 ~ 46.84| 3.62 19.40
s 1.00] 3.63 ~ 1142 100.00| #+list 1 1.30 ~ 11.42| 3.00 16.05 s 1.00f 500 ~ 10.54 100.00f Z=hl4t+ | 5.00 ~ 25.00[ 3.00 16.05
15 100kN/m##8% % 1.00]0.00 ~ 3.61 158.32|3m%x# %% 0.00 ~ 1.29 3.62 19.36| 100kN/m#%#B 2% 1.00{ 10.54 ~ 45.90 158.32| 3m%x#8% %] 25.00 ~ 4590| 3.62 19.36
Th st 1.00] 3.61 ~ 11.39 100.00] Zh st 1129 ~ 11.39] 3.00 16.05 s 1.00f 500 ~ 10.54 100.00| Zh kst | 500 ~ 2500 3.00 16.05
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